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Instructions : - -

(iy  All questions are compulsory. Internal options arc given in question numbers
6 10 26.

(i) Question numbers 1 to 5 are objective types questions. Each question carries
R marks and cach sub-question carries 1 mark. ,

(ii1) Question numbers 6 to 10 cach carries 2 marks. Answer these questions
approximately in 30 words cach.

(1v) Question numlurs 11 to 14 cach carrics 3 marks. Answer these questions
approximatcly in 75 words cach.

(v) Question numbers 15 to 21 rach carries 4 marks. Answer these questions
approximately in 120 words cach.

(+vi) Question numbers 22 to 26 cach carries 5 marks. Answer these questions

approximately in 150 words cach.

(vil) Draw ncat and |
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"1 9 fmes gee fafeg
(i) - wdweA AEH (micro) TR A TN & A arefamre T -
(@ el (b) ST
(© @ (@ TR fw
() 9ff B & § fred 91 Eh ¥ ?
’ (a) T9g sty (b) ‘Eﬁqﬁ
(©)  (a) oX (b) =k &) T Y B T
(iii) UHTHTY AT @ wekid dwar ¥ 7
(a) SARH WOl (b) fearor wiman
() TR vk @ T I wg A
- (v) R S & SUE @ R eeq E7
() st fefior OR8]
. (@ fEw d) T ¥ wh
(v) oMl HIT @ R0 ¥ ISR wr @y —
(a) 9em (b) =m
(c) T @ (d) 99 ¥ @5 &
Select and write the correct options : _
(1) The word micro was firstly used by Economist -
(a) Marshall (b) Boulding
(c) Keynes : (d) Ragnar Frisch
(ii) Supply is associated with- - '
(a) A time period (b) Price
(c) Both (a) and (b) (d) None of these
(ii1) What does monopoly market show ?
(a) Production process - (b) DlStI’lbUthIl system
- {¢) Nature of market = (d) None of these -
(iv) What is consumption of fixed capﬂal called ?
(a) Capital Formation = (b) Depreciation
(c) Investment - _ (d) All of these _
- (v) The employment level in the state of deficiency demand -
(a) Will increase (b) Will decrease
(c) Will be stable .~ (d) None of these
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N . o L L

1x5=5

LT RS e



2

(i) {ﬁq%ﬁﬁmwﬁﬁqga—mﬁéﬁ%n

A('ii) In perfect com

ﬁ?ﬁwﬁ?ﬁ‘{iﬁiﬁﬁ‘ﬂ{ , ' , . "1%x5=5

/

(i) WWHTW%TW\ _m%|

(i) W%Wﬁ?qma?rzwaﬁ? aﬁa’rqa’rﬁsrr&raﬁm
I |

(i) FEHET B H SaImdl
(v) wEE ¥ wwe \gmu@ﬁﬁwm%t

(v) W A =

'_—:t___————“—z

Fill in the blanks : N

(i) Medium of exchange is a function of money.
(ii) In Balance of Payment 1ncludes visible and- __ both items of
the trade. )
© (iii) Income tax is an example of . tax.

(iv) Budget is presented in Parliament by
(v) Mid-value =

e | erEe fafey ' - 1x5=5

@) mmmwa@ﬁé‘r%l )

(iii) wﬁaﬁmmﬂﬁﬂﬁﬂﬁﬁm’gl
(iv) WWWW@&TWWWW?@%I
(v) YT sy wha dghva T E

Write True or False !

(i) Tea and coffee
petition market — firm is a price-taker.

are not complementary goods.

(iii) The demand for consumptlon depends upon propensity to

consume.

(iv) Medium of €X¢
(v) Balance of Payment is always balanced.

hange is not a primary function of money.
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(ii) a1 @& &, S Ry

wd wE E
(i) =M e+
(iv) IO’ I
(v) SEgied ssie
Match the columns :
'A‘ :

(1) Equilibrium price

(i)
| (iii)

Money is that, what
money does.
Balance of Trade
(iv) Excise Duty

)

U I/ ¥ Iax Sifvg

Unbalanced budget

@
®

(c)

(d)
()

(a)
(b)

(c)
(d)

()

. 1%x5=5

a)

'a'é@rﬁmf

a’\ﬁeﬁaﬁraﬂmaqaﬁﬂfﬁs

AT HY
ama?reﬁmémaﬁw

lBl

‘Hartley Vidarsh -

Import and
Export goods
Indirect tax

Expenditure is heavier relative .to

income.
Demand and supply

(i) == & 1936 % foRad gee w1 T =

(i) ATM. & pof &7 @7 %7
(i) IR ¥ w sy €

(iv) 20-30 @1 =t dmnd fafgn)
(v) Tstis & ot fafag) -

- Answer. in one word/sentence :

() Write the name of a book written” by Keynes in ]936

(i)
(iii)
(iv)

What is the full form of A.T.M. ?
What do you mean by budget ?
Write the class limit of 20 — 30.
(v) Write the utility of Index Number.

qT it fha WhR @7 e &7

- How many are types of demand schedule ?

gfereamas a‘@eﬁaﬂ i fefe |

Fyar /| OR

Write the meaning of substitute goods
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7 qrg § S S G @1 Teq e fear TET? ' 2
When was the National Income Committee established in India ?
I /| OR .
WRa § U A Bl T W B B FE B

Who is calculating the national income jn-India ?

8 o @ G e @ b7 - -_ 2
‘What is the marginal capacity of capital ? |
Jyar | OR
SUHIT BN fRe wed ¥ 7

What is consumption function ?

9 . EEA Rrd ¥ TR T @ aoner Refed 2
Write the definition of money accordingtto Prof. Hartley Vidarsh.
e /| OR
W. AfwET & FTER qa1 @ afvwrer fafad

Write the definition of money according to Prof. Seligman.

10 fr= goft § R &0 o @il N 2
150, 145, 100, 120, 190, 200 |
Calculate the Range from the following series :

150, 145, 100, 120, 190, 200
s /| OR

Write the formula of median by the method of indiﬁdual series.

11 =7 € g @ A9« gl http://www.mpboardonline.com 3
Write the importance of elasticity of demand. -
o sy | OR
qff @y O 9@ EE R
Write the factors affecting supply..

12 qoien deer ofi B el o 3
Explain the perfect elasticity of supply. ,

o sl [ OR

T B gy w0 9 BRG fWEgl

Write the factors affecting demand.

140/ E.813 o 5 G
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13 9 fr@ o & aie fafeg | 3
10 — 20, 20 — 30 3 30 — 40 |
Write the class interval of the following classes :

10 — 20, 20 — 30 and 30 — 40

Y | OR
frey ol @ TqUE R o AR
10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20 .
Calculate the quartile deviation from the following data :
10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20

14 O—IO@TIO—2OWWWWWI | ; 3
Calculate the mid value of 0 — 10 and 10 — 20.
yar /| OR

qrs%mrﬁ%snaiaﬂﬁsr%ﬁ@m

Write the formula of Index number of Paasche.

15 =fe sefemer o o ar fygwand fafaw) - | - 4
Write the characteristics of micro economics. (any four) ‘
s [ OR

Tafe rdeme &1 & 9aRy|

Explain the scope of macro economics.

16 qUf wREr o @ @ T fasvand ey | . | 4
Write any four characteristics of perfect competition market.
sy /| OR

Wmﬁwwmmr&wﬁwﬁrﬁml

Write differences between perfect competition market and monopoly market.

17 qa;af@gﬁua?refaazrwﬁfﬁgql | : 4
: erte the qualities of good money. ' _
s /[ OR

vW@ﬂﬁTGﬂTW{ﬁTﬁWWI

Write differences between metallic money and paper money.

18 M wgad @ =, fasvard R | 4
Write the four features of Balance of Payment. ‘
JFyar / OR

o W B W R

Write the components of Current Account
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20

21

2

oL aﬂT YT B H IR0 Site

Write the examples of direct and indirect tax.
Sy /| OR

a7 % v % wm fafag)

Write the names of the types of tax.

Wﬂmﬁaﬁ&rﬁm‘r%ﬁmﬁfﬁm,

Write the names of methods of measures of dispersion.

sy | OR

are fogee o T e ¥ #E @ e fifel

Write any two differences between mean deviati

on and standard deviation.

ﬁéswmﬁﬂﬁ?ﬁﬁvmmaﬁml K 4

write four difficulties in construction of index number.

Fuar [ OR

ﬁ%%&nﬁmaﬁwﬁmmﬁ%mmﬁﬁswaﬁwl

| T A|B |C|D |E

1989 & e (%) | 50 | 40 [ 80 [ 110 | 20
1990 % 7@ (®.) | 70 | 60 | 90 | 120 | 20

Calculate the price index number by simple aggregate method using the

following data : http://www.mpboardonline.com

Item AlB|C|D E

Pricen | < | 40 | 80 [110 | 20
1989 (Rs.) i I

Price 1n 70 | 60 90 _120' 20
1990 (Rs.) < | e

BIR %ﬁ ﬁnm Gl nmﬁraﬁ £l -aruﬁ a‘?lﬁﬂﬁl
Describe the assumptions. of law of demand.
- s /| OR

'qma;ﬁ-qﬁesmﬁama“ﬁaﬁﬁ@'

Describe the exceptlons of law of demand

140 |/ E-813
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23 I o A@isd B A fofEdl

Write the importance of the national income counting. '

S /[ OR
Frfefaa aiferst ¥ amg fafy AT U™ e @Y ToEr @i
w B3 (FT)
Fu—— 8,000
Ecll 5,000
o 20,000
et e AWl | 30,000
T B 10,000

Calculate the national incoqié}by income method with the help of following data :

| Items Crores (Rs.)
Rent 8.000
Interest 5.000
Profit_ 20.000
Wages and Salaries | 30,000
Deprecifition 10,000
24 %—mwmm%aﬁamﬁwﬁl o .5
Explain circular flow of ificome by two sector model. - : .
[ OR
Pr-ee wied g1 o G=hE ware @l aeeEd |
Explain circular flow of income by three sector of model. ‘ |
25 §ue & T Bl AU I - | 5
Describe the types of budget. ' - N

@/ OR
g3 & Hed hl ATl Hifq|
Explain the importance of budget. |
ﬁmﬁfﬁgama%mmﬁwmwmmwﬁamaﬁwaﬁﬁﬂm 5

26

54, 57, 52,749, 42, 56, 47~
Calculate mean deviation by mean with the help of followmg data
- 54, 57 52, 49 42, 56, 47 : |

i | OR : |
ﬁmﬁﬁemam@a%qaaah@qummwﬁwaﬁm%qy
54, 57, 52, 49, 42, 56, 47 :
Calculate mean deviation by med1an with the help of followmg data.v
54, 57, 52, 49, 42, 56, 47
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